

# Appendix 6

## DEDICATED SCHOOLS GRANT 2026/27

### 1. Background

- 1.1 The Dedicated Schools Grant (DSG) provides the core funding for schools and early years providers. It is divided into four blocks, each with its own formula, regulatory framework, and specific purpose.
- **Schools Block** – funds mainstream primary and secondary schools through the local schools funding formula, and growth funding for new/growing schools.
  - **High Needs Block** – funds places in special schools, resource bases and alternative provision, and top-up funding for pupils with EHCPs in all settings.
  - **Early Years Block** – funds nursery schools, nursery classes in mainstream schools, and early years settings in the PVI sector through the free entitlement (from 9 months to 4-year-olds).
  - **Central Schools Services Block** – funds centrally provided services for all schools, such as the admissions service.
- 1.2 Allocations for 2026/27 were published by the Department for Education (DfE) in December 2025. High Needs and Early Years funding will be updated in-year to reflect census adjustments and import/export movements.
- 1.3 The DSG must be deployed in accordance with the DSG conditions of grant and the School and Early Years Finance and Childcare (England) Regulations. Detailed guidance is normally contained within operational guidance issued by the Education and Skills Funding Agency (ESFA).
- 1.4 The DSG is a ring-fenced grant, though some funding can be transferred between blocks (subject to Schools' Forum approval). As a working assumption, up to 0.5% transfer from the Schools Block may be considered for 2026/27.
- 1.5 Schools' Forum is consulted on all areas of the DSG. Papers and minutes are publicly available on the Council's website.

[Schools Forum meeting papers - Reading Borough Council](#)

### 2. Overall DSG Allocation for 2026/27

- 2.1 Table 1 summarises the indicative DSG allocations for 2026/27 and compares them with 2025/26. The Council receives its allocation as a gross amount and determines how the funding is distributed before the Government recoups academy funding.
- 2.2 Overall, the DSG increases by £9.915m from 2025/26 to 2026/27.
- 2.3 Key drivers include:
- incorporation of prior supplementary grants
  - changes in pupil numbers based on the October 2025 census
  - national funding formula (NFF) updates

- 2.4 Locally, pupil numbers decreased by 427 pupils (2.15%), representing the first combined primary and secondary decline in over 20 years. This continues to affect the distribution of both Schools Block funding and CSSB allocations.

**Table 1: Indicative Dedicated Schools Grant allocation 2026/27**

<b>BLOCK</b>	<b>2025/26 ACTUAL (£'000)</b>	<b>2026/27 INITIAL (£'000)</b>	<b>Change (£'000)</b>	<b>Change (%)</b>
Schools Block	135,870	139,778	3,908	+2.9%
Central Schools Services Block	1,151	1,198	47	+4.1%
Early Years Block	29,089	33,182	4,093	+14.1%
High Needs Block	33,247	35,114	1,867	+5.6%
<b>TOTAL (Gross)</b>	<b>199,357</b>	<b>209,272</b>	<b>9,915</b>	<b>+5.0%</b>
Less Recoupment – Schools	(79,142)	(80,561)	(1,419)	
Less Recoupment – High Needs	(4,455)	(4,452)	3	
<b>TOTAL (Net)</b>	<b>115,760</b>	<b>124,259</b>	<b>8,499</b>	

### **3. Schools Block Budget for 2026/27**

- 3.1 The Schools Block allocation is based on Primary Units of Funding (PUFs) and Secondary Units of Funding (SUFs) with additional funds for premises related spend (Business Rates) and growth funding.

*Appendix 1 shows the DfE-published PUFs/SUFs for 2026/27*

- 3.2 The 2026/27 Schools Block has been calculated using October 2025 census data and the DfE's National Funding Formula (NFF). Locally, the Reading formula mirrors the NFF as closely as affordability allows. To balance the formula within the available allocation, a 1.2% reduction has been applied to the basic entitlement rates, alongside the agreed 0.41% transfer to the High Needs Block to support the Reading Inclusion Support in Education (RISE) service.

- 3.3 It was approved to transfer 0.41%/£580k from the Schools Block to the High Needs Block to fund RISE SEND services across all schools in Reading. The schools block budget has been set based on the recommendations and decisions made at the January 2026 meetings of the Schools' Forum.

*Appendix 2 shows the final formula factors and values.*

*Appendix 3 shows the final 2026/27 school-level allocations for primary and secondary*

- 3.4 The National Funding Formula (NFF) continues to get closer with every factor having a lower and upper limit to being used. Reading is proud of its achievement to have moved within less than 1% of the national formula since 2019 and continue to achieve this every year. All factors are set to the NFF rate including area cost adjustments for 2026/27 except for the basic entitlements where we have reduced them by 1.2% to fund the formula with the agreement transfer to the High Needs Block.

3.5 The Pupil Premium Grant for schools will continue in 2026/27 and have increased by 2.3% for 2026/27.

- Primary FSM6 pupils: £1,550 (from £1,515 in 2025/26)
- Secondary FSM6 pupils: £1,100 (from £1,075 in 2025/26)
- Pupils who were previously looked after: £2,690 (from £2,630 in 2025/26)

#### 4 Central Schools Services Block Budget for 2026/27

4.1 The Central Schools Services Block (CSSB) funds statutory and historic commitments delivered centrally. The historic commitments element continues to be reduced nationally by 20% per year.

4.2 Budget setting for 2026/27 will reflect any reductions in funding and will prioritise statutory services.

4.3 In order to balance the budget in this block, some of the historical commitment budgets have been reduced to reflect this funding reduction; these budgets are contributions towards service costs, so will result in these services either having to fund the reduction from elsewhere or reducing the level of service. Reading will continue to prioritise statutory services.

#### 5 Early Years Block Budget for 2026/27

5.1 The formula used for calculating Early Years entitlements for 2026/27 will follow DfE guidance which has minor changes from 2025/26.

5.2 Key changes

- Passthrough rate increases to 97%, leaving 3% for local authority central services (up from 96% in 2025/26).
- Full-year impact of expanded entitlement for working parents of 2-year-olds (up to 30 free hours).
- Unit rates have increased across all age groups and funding streams. The unit rate increases reflect the full-year impact of the national expansion of childcare entitlements for working parents.

**Table 2: Unit values agreed and provided for all Early Years Settings from April 2026.**

	25/26	26/27	Variance	%
3+ Year Olds (Universal)	£6.55	£6.88	£0.33	5.0%
3+ Year Olds (Working Parents)	£6.55	£6.88	£0.33	5.0%
2 Year Olds (Targeted)	£9.57	£9.68	£0.11	1.1%
2 Year Olds (Working Parents)	£9.57	£9.68	£0.11	1.1%
Under 2s (Working Parents)	£13.14	£13.58	£0.44	3.3%
Early Years Pupil Premium	£2.00	£2.15	£0.15	7.5%
Disability Access Funding (DAF)	£938.00	£975.00	£37.00	3.9%
Maintained Nursery Grant	£5.27	£5.47	£0.20	3.8%

5.3 Retained Budgets for the Early Years Block were agreed at the January 2026 Schools Forum.

## **6. High Needs Block Budget for 2026/27**

6.1 The High Needs Block (HNB) allocation for 2026/27 remains at 2025/26 cash levels, with no additional uplift from the DfE beyond incorporation of supplementary grants. The £1.867m increase reflects grant consolidation rather than new funding.

6.2 Although the national High Needs Block has increased by 58% since 2019/20, demand growth has significantly exceeded funding. The 2026/27 increase for Reading primarily reflects grant consolidation rather than additional funding. The cumulative deficit is forecast to reach £49m by March 2026, covered by the statutory override. However, the scale of the deficit is now impacting the council's treasury and borrowing costs.

6.3 Councils continue to face rapidly rising demand for SEND support and significantly increasing numbers of EHCPs and specialist placements, especially in independent and non-maintained special schools, which remain the biggest cost pressure.

6.4 Reading's High Needs Block cumulative deficit will potentially increase to £49m by March 2026. This substantial DSG deficit by the end of the financial year is covered by the statutory override that shields councils from technical bankruptcy. This is effectively an 'overdraft' on the balance sheet and at these levels is starting to impact the amount of investment income the council can earn due to the interest on borrowing to maintain the day-to-day business of the council.

6.5 Top up funding makes up the greatest proportion of expenditure in this block that includes Additional Resourced Provision (ARP). This equates to around 93% of the expenditure budget. The budget will be based on the current actual average cost of each type of placement (as at January census 2026) with an average inflation rate added and an annual increase in number of placements according to current trends.

6.6 Government statements acknowledge the SEND system is not financially sustainable and requires structural reform to improve outcomes and restore sustainability, with a SEND system being fairer, more inclusive and financially viable. The reform acknowledges long-standing issues: inconsistent support, rising EHCP demand, escalating costs, and widespread parent dissatisfaction. The Government has committed to detailed reforms in a forthcoming Schools White Paper (expected early 2026), with consultation and co-design underway.

## **7 Special Educational Needs funding**

7.1 The High Needs Block has been in deficit for several years. Approximately 93% of the High Needs Block is statutory top-up funding for pupils with EHCPs; this area remains the most sensitive to changes in volumes and unit costs.

7.2 The strategy is focused on:

- Strengthening mainstream inclusion,
- Expanding local specialist provision to reduce out-of-area placements,
- Improving commissioning and banding consistency,

- Strengthening early intervention.

7.3 EHCP top-ups are the highest risk due to the unpredictability of the number and level (cost) of plans. Numbers continue to rise year-on-year (see Table 3), increasing financial pressure.

**Table 3: Numbers of EHCPs**

Date	Actual Total Number	Annual Year-on-Year Increase
2019/20: December 2019	1,391	115
2020/21: December 2020	1,462	71
2021/22: December 2021	1,572	110
2022/23: December 2022	1,756	184
2023/24: December 2023	1,967	211
2024/25: December 2024	1,999	32
2025/26: December 2025	2088	89

7.4 The Council continues to support schools in providing education for all children and SEN strategic decisions are part of a governance group that is fed back to senior leaders. Finance staff review the monthly finances with analysis on changes that can then be compared to outcomes. The implementation of ARPs and the full Council support for creating a new special school in September 2027 are fundamental in trying to give the need to stay local and within the community as well as making a financial shift from high costly placements.

7.5 Forecasts show the cumulative High Needs deficit could reach £94m by March 2028 without Government intervention (see Table 4). National discussions are underway about how deficits will be treated once the statutory override ends in April 2028.

**Table 4 Current DSG High Needs Block Forecast (December 2025)**

	2024/25 Outturn £m	2025/26 Dec-25 Forecast £m	2026/27 Estimate £m	2027/28 Estimate £m
High Needs Expenditure	42.616	49.075	52.000	55.000
High Needs Income	(26.667)	(28.792)	(30.662)	(30.662)
<b>High Needs In-Year Deficit/(surplus)</b>	15.949	20.283	21.338	24.338
Add High Needs B/F Deficit	12.395	28.344	48.627	69.965
<b>Year End Position</b>	28.344	48.627	69.965	94.303

7.6 The forecasts show considerable pressure within this block and continuous work and strategies have been created and are in early implementation to produce savings and cost avoidance for future years. The Needs of the children and schools will always be critical on any changes, and the work will improve the quality of Education, and the support educational settings will receive.

- 7.7 The Government has confirmed its approach to supporting local authorities with Dedicated Schools Grant (DSG) deficits, as outlined in the response to the Provisional Local Government Finance Settlement. Central to this approach is the introduction of the **High Needs Stability Grant**, designed to provide substantial financial support to authorities holding DSG deficits in their unusable reserves at the end of 2025/26.
- 7.8 The DfE and the Department for Levelling Up, Housing & Communities (DLUHC) will determine each authority's eligible DSG deficit using a range of validated financial sources, including Section 251 data, DSG notes, S151 assurances, Revenue Outturn figures and published accounts. Where discrepancies exist and cannot be satisfactorily explained, the lowest recorded DSG deficit figure will be used for grant allocation purposes. Only high needs-related deficits will be eligible, and any ineligible expenditure will be excluded before calculating the grant (payable at 90%).
- 7.9 Payments will be made by DfE as Section 31 grants from autumn 2026, subject to each authority submitting and securing approval of a **Local SEND Reform Plan** developed collaboratively with education, health and post-16 partners. Grant funding must be used exclusively to eliminate the DSG deficit recorded in the unusable reserve as at 31<sup>st</sup> March 2026.

## **8 Appendices**

Appendix 1 - DSG Allocations 2025/26 and 2026/27

Appendix 2 - Final Formula Factors and Values 2025/26 to 2026/27

Appendix 3 - Final 2026/27 School Formula Allocations for Primary and Secondary Schools

## Appendix 1 – DSG Allocations 2025/26 and 2026/27

	2025/26 ACTUAL				YEAR ON YEAR CHANGE		
	Units/Rate	Funding £'000	Units/Rate	Funding £'000	£'000	%	Notes
<b>Schools Block (SB):</b>							
Primary Unit of Funding (PUF)	£5,568.74		£5,850.27		£281.53		Confirmed
<i>Primary Pupil numbers &amp; funding</i>	13,102	72,962	12,723	74,433	1,471	2.00%	Confirmed
Secondary Unit of Funding (SUF)	£7,382.34		£7,744.14		£361.80		Confirmed
<i>Secondary Pupil numbers &amp; funding</i>	8,192	60,476	8,114	62,836	2,360	3.90%	Confirmed
Premises		1,666		1,781	115	6.90%	Confirmed
<b>TOTAL SB excl. Growth</b>		<b>135,104</b>		<b>139,053</b>	<b>3,949</b>	<b>2.90%</b>	
Growth Funding Factor		765		728	-37	-4.80%	Confirmed
<b>TOTAL SB</b>		<b>135,870</b>		<b>139,778</b>	<b>3,908</b>	<b>2.90%</b>	
<b>Central School Services Block (CSSB):</b>							
Unit of Funding	£45.70		£50.64		£4.94		Confirmed
<i>Pupil Numbers</i>	21,294	973	2,837	1,055	82	8.40%	Confirmed
Historic Commitments		178		143	-35	-20.00%	Confirmed (Planned reduction by DfE)
<b>TOTAL CSSB</b>		<b>1,151</b>		<b>1,198</b>	<b>47</b>	<b>4.10%</b>	
<b>High Needs Block (HNB):</b>							
Formula		33,169		36,193	3,024	9.10%	Confirmed
Hospital & AP pay grants		332		359	27	8.10%	Confirmed
Place Funding Unit of Funding	£4,913.23		£3,213.63		(£1,699.60)		Confirmed
<i>Place Numbers</i>	495.5	2,439	464	1,492	-947	-38.80%	Confirmed
Import/Export Adjustment		-2,700		-2,946	-246	-9.10%	Based on Oct 24 census & Jan 25 ILR
Additional HN Funding		144		16	-128	-88.90%	
<b>Total HNB</b>		<b>33,385</b>		<b>35,114</b>	<b>1,729</b>	<b>5.20%</b>	
<b>Early Years Block (EYB):</b>							
3- & 4-Year-Old Funding Rate	£6.86		£7.30		£0.44		Confirmed
<i>3- &amp; 4-year-olds numbers &amp; funding</i>	3,512	13,734	3,397	14,133	399	2.90%	termly census
2-Year-Old Funding Rate	£10.02		£10.18		£0.16		Confirmed
<i>2-Year-old numbers &amp; funding</i>	1,138	6,497	1,452	8,426	1,929	29.70%	termly census
Under 2-Year-Old Funding Rate	£13.76		£14.03		£0.27		Confirmed
<i>Under 2-Year-Old numbers &amp; funding</i>	951	7,459	1,150	9,198	1,739	23.30%	termly census
Pupil Premium		223		329	106		termly census
Disabled Access Fund		120		130	10		
Maintained Nursey Grant		1,041		966	-75		termly census
<b>Total EYB</b>		<b>29,074</b>		<b>33,182</b>	<b>4,108</b>	<b>14.10%</b>	
<b>TOTAL ALL BLOCKS</b>		<b>199,480</b>		<b>209,272</b>	<b>9,792</b>	<b>4.90%</b>	

## Appendix 2 – Agreed Formula Factors and Values 2025/26 to 2026/27

Formula Elements	2024/25		2025/26		2026/27		Note
	NFF with ACA	Reading Final	Reading NFF with ACA	Reading Final	Reading NFF with ACA	Reading Proposed	
<b>Basic Entitlement</b>							
Primary	£3,690.45	£3,653.48	£3,986.34	£3,966.03	£4,211.12	£4,161.22	NFF with ACA - reduced by 1.2%
Secondary - KS3	£5,203.09	£5,150.97	£5,618.38	£5,573.08	£5,891.83	£5,822.01	
Secondary - KS4	£5,865.14	£5,806.39	£6,334.41	£6,283.33	£6,642.04	£6,563.33	
<b>Deprivation</b>							
Free School Meals - Pri & Sec	£507.67	£507.67	£512.93	£512.93	£523.28	£523.28	As per NFF with ACA
Free School Meals Ever 6 - Pri	£849.57	£849.57	£1,098.39	£1,098.39	£1,253.80	£1,253.80	
Free School Meals Ever 6 - Sec	£1,243.27	£1,243.27	£1,611.32	£1,611.32	£1,787.45	£1,787.45	
IDACI Band A - Primary	£704.52	£704.52	£709.81	£709.81	£725.34	£725.34	
IDACI Band B - Primary	£533.57	£533.57	£538.83	£538.83	£549.19	£549.19	
IDACI Band C - Primary	£502.49	£502.49	£507.75	£507.75	£518.10	£518.10	
IDACI Band D - Primary	£461.05	£461.05	£461.12	£461.12	£471.47	£471.47	
IDACI Band E - Primary	£295.28	£295.28	£295.32	£295.32	£300.50	£300.50	
IDACI Band F - Primary	£243.47	£243.47	£243.51	£243.51	£248.69	£248.69	
IDACI Band A - Secondary	£979.08	£979.08	£984.41	£984.41	£1,005.11	£1,005.11	
IDACI Band B - Secondary	£766.68	£766.68	£771.98	£771.98	£787.51	£787.51	
IDACI Band C - Secondary	£714.88	£714.88	£720.17	£720.17	£735.70	£735.70	
IDACI Band D - Secondary	£652.72	£652.72	£658.00	£658.00	£673.53	£673.53	
IDACI Band E - Secondary	£466.23	£466.23	£466.30	£466.30	£476.65	£476.65	
IDACI Band F - Secondary	£352.26	£352.26	£352.31	£352.31	£357.49	£357.49	
<b>Prior Attainment</b>							
Primary	£1,212.19	£1,212.19	£1,217.56	£1,217.56	£1,243.44	£1,243.44	As per NFF with ACA
Secondary	£1,839.01	£1,839.01	£1,849.65	£1,849.65	£1,891.07	£1,891.07	
<b>English as an Additional Language</b>							
Primary	£611.28	£611.28	£616.55	£616.55	£632.08	£632.08	As per NFF with ACA
Secondary	£1,642.16	£1,642.16	£1,652.77	£1,652.77	£1,689.01	£1,689.01	
<b>Mobility</b>							
Primary	£994.62	£994.62	£999.95	£999.95	£1,020.66	£1,020.66	As per NFF with ACA
Secondary	£1,429.76	£1,429.76	£1,435.16	£1,435.16	£1,466.22	£1,466.22	
<b>Lump Sum</b>	£139,246.46	£139,246.46	£150,355.52	£150,355.52	£158,227.74	£158,227.74	
<b>Split sites basic eligibility</b>	£55,636.42	£55,636.42	£55,955.88	£55,955.88	£57,094.62	£57,094.62	
<b>Split sites distance funding</b>	£27,870.01	£27,870.01	£27,977.94	£27,977.94	£28,599.12	£28,599.12	
<b>Minimum Per Pupil Level</b>							
Primary		£4,610.00		£4,955.00		£5,115.00	As per NFF
Secondary		£5,771.00		£6,465.00		£6,640.00	
(KS3 Only School)		£6,331.00		£6,221.00		£6,388.00	
(KS4 Only School)		£5,995.00		£6,831.00		£7,018.00	
Max. Minimum Funding Guarantee		0.50%		0.00%		0.00%	Local Decision between <b>-5%</b> & 0%

## Appendix 3 – School Formula Allocations for Primary and Secondary Schools 2026/27

School Name	2025-2026 Actual Allocation					2026-27 Indicative Allocation			Overall Change between 2025-26 and 2026-27			
	2025-26 Post MFG Budget	2025-26 NOR	2025-26 Post MFG per pupil Budget (A)	2025-26 Grants	Adjusted 2025-26 Allocation	2026-27 Post MFG Budget	2026-27 NOR	2026-27 Post MFG per pupil Budget (B)	Total Variance	% Change Year-on-year	Per Pupil variance (B - A)	% Increase Y-on-Y per Pupil
Alfred Sutton Primary School	£3,175,439	624	£5,089	£92,492	£3,267,931	£3,257,472	614	£5,305	(£10,458)	(0.32%)	£216	4.25%
Caversham Primary School	£2,043,084	405	£5,045	£54,481	£2,097,565	£2,149,402	413	£5,204	£51,837	2.47%	£160	3.17%
Coley Primary School	£1,247,037	205	£6,083	£33,383	£1,280,420	£1,294,549	203	£6,377	£14,130	1.10%	£294	4.83%
E P Collier Primary School	£2,190,003	379	£5,778	£60,473	£2,250,476	£2,021,157	335	£6,033	(£229,318)	(10.19%)	£255	4.41%
Geoffrey Field Junior School	£2,078,018	352	£5,903	£60,020	£2,138,038	£2,231,959	358	£6,235	£93,920	4.39%	£331	5.61%
Geoffrey Field Infant School	£1,603,509	257	£6,239	£42,657	£1,646,166	£1,653,407	257	£6,433	£7,241	0.44%	£194	3.11%
Oxford Road Community School	£1,246,504	202	£6,171	£36,746	£1,283,250	£1,364,302	205	£6,655	£81,052	6.32%	£484	7.85%
Redlands Primary School	£1,148,623	193	£5,951	£31,883	£1,180,506	£1,139,231	183	£6,225	(£41,275)	(3.50%)	£274	4.60%
The Hill Primary School	£1,998,639	393	£5,086	£52,596	£2,051,235	£2,133,975	407	£5,243	£82,740	4.03%	£158	3.10%
The Ridgeway Primary School	£2,389,900	385	£6,208	£66,118	£2,456,018	£2,318,043	352	£6,585	(£137,974)	(5.62%)	£378	6.09%
Park Lane Primary School	£2,078,344	385	£5,398	£57,912	£2,136,256	£2,188,739	387	£5,656	£52,483	2.46%	£257	4.77%
Wilson Primary School	£2,202,463	409	£5,385	£60,859	£2,263,322	£2,360,904	413	£5,716	£97,581	4.31%	£331	6.16%
Emmer Green Primary School	£2,101,452	417	£5,039	£55,342	£2,156,794	£2,178,982	419	£5,200	£22,188	1.03%	£161	3.19%
Southcote Primary School	£2,939,198	551	£5,334	£84,464	£3,023,662	£3,013,408	534	£5,643	(£10,254)	(0.34%)	£309	5.79%
St Michael's Primary School	£2,259,238	391	£5,778	£65,396	£2,324,634	£2,259,842	366	£6,174	(£64,792)	(2.79%)	£396	6.86%
Moorlands Primary School	£1,721,291	284	£6,061	£53,001	£1,774,292	£1,708,743	267	£6,400	(£65,549)	(3.69%)	£339	5.59%
Thameside Primary School	£1,899,974	344	£5,523	£56,234	£1,956,208	£1,833,798	316	£5,803	(£122,411)	(6.26%)	£280	5.07%
Katesgrove Primary School	£3,272,618	605	£5,409	£89,445	£3,362,063	£3,441,065	610	£5,641	£79,002	2.35%	£232	4.29%
Caversham Park Primary School	£716,678	115	£6,232	£18,783	£735,461	£653,418	91	£7,180	(£82,043)	(11.16%)	£948	15.22%
Micklands Primary School	£1,790,458	319	£5,613	£51,870	£1,842,328	£1,761,281	294	£5,991	(£81,046)	(4.40%)	£378	6.74%
Manor Primary School	£1,738,572	287	£6,058	£52,318	£1,790,890	£1,686,330	263	£6,412	(£104,560)	(5.84%)	£354	5.85%
All Saints Church of England Aided Infant	£448,886	60	£7,481	£11,657	£460,543	£462,463	60	£7,708	£1,920	0.42%	£226	3.02%
St Anne's Catholic Primary School	£890,387	146	£6,099	£25,326	£915,713	£943,630	147	£6,419	£27,916	3.05%	£321	5.26%
English Martyrs' Catholic Primary School	£2,094,833	389	£5,385	£57,476	£2,152,309	£2,071,383	366	£5,660	(£80,926)	(3.76%)	£274	5.09%
Christ The King Catholic Primary School	£1,756,585	285	£6,163	£55,244	£1,811,829	£1,811,247	278	£6,515	(£582)	(0.03%)	£352	5.71%
St Martin's Catholic Primary School	£801,334	136	£5,892	£21,855	£823,189	£802,576	128	£6,270	(£20,613)	(2.50%)	£378	6.41%
Whitley Park Primary and Nursery School	£2,898,149	476	£6,089	£84,731	£2,982,880	£2,818,596	440	£6,406	(£164,284)	(5.51%)	£317	5.21%
<b>Blessed Hugh Faringdon Catholic School</b>	£6,813,800	929	£7,335	£154,519	£6,968,319	£7,077,408	918	£7,710	£109,089	1.57%	£375	5.11%
All Saints Junior School	£585,369	94	£6,227	£16,052	£601,421	£641,455	97	£6,613	£40,034	6.66%	£386	6.19%
Meadow Park Academy	£1,958,722	330	£5,936	£59,108	£2,017,830	£1,824,931	292	£6,250	(£192,900)	(9.56%)	£314	5.29%
Battle Primary Academy	£2,229,399	402	£5,546	£64,725	£2,294,124	£2,422,252	416	£5,823	£128,127	5.59%	£277	4.99%
The Palmer Primary Academy	£2,193,995	386	£5,684	£61,792	£2,255,787	£2,416,824	398	£6,072	£161,037	7.14%	£388	6.84%
Civitas Academy	£2,186,083	390	£5,605	£57,595	£2,243,678	£2,239,632	383	£5,848	(£4,047)	(0.18%)	£242	4.32%
The Heights Primary School	£1,818,321	363	£5,009	£48,792	£1,867,113	£1,837,723	355	£5,177	(£29,390)	(1.57%)	£168	3.34%
Ranikhet Academy	£1,273,958	201	£6,338	£38,378	£1,312,336	£1,209,616	180	£6,720	(£102,720)	(7.83%)	£382	6.03%
New Town Primary School	£2,159,292	385	£5,609	£58,710	£2,218,002	£2,241,697	382	£5,868	£23,695	1.07%	£260	4.63%
Churchend Primary Academy	£2,186,985	409	£5,347	£62,139	£2,249,124	£2,100,398	376	£5,586	(£148,727)	(6.61%)	£239	4.47%
St Mary & All Saints Church of England	£1,991,240	326	£6,108	£54,072	£2,045,312	£1,912,021	288	£6,639	(£133,291)	(6.52%)	£531	8.69%
Green Park Village Primary Academy	£1,439,195	247	£5,827	£36,679	£1,475,874	£1,742,795	293	£5,948	£266,921	18.09%	£121	2.08%
New Christ Church Church of England	£1,155,294	199	£5,805	£31,756	£1,187,050	£1,113,325	179	£6,220	(£73,726)	(6.21%)	£414	7.13%
St John's Church of England Primary School	£2,290,350	411	£5,573	£62,605	£2,352,955	£2,373,426	413	£5,747	£20,472	0.87%	£174	3.13%
<b>UTC Reading</b>	£1,212,013	140	£8,657	£27,573	£1,239,586	£1,215,188	124	£9,800	(£24,398)	(1.97%)	£1,143	13.20%
<b>Maiden Erlegh School in Reading</b>	£6,668,907	885	£7,535	£150,534	£6,819,441	£7,063,529	895	£7,892	£244,089	3.58%	£357	4.73%
<b>The WREN School</b>	£6,364,418	834	£7,631	£139,769	£6,504,187	£6,359,221	786	£8,091	(£144,966)	(2.23%)	£459	6.02%
<b>Reading Girls' School</b>	£6,873,302	906	£7,586	£151,784	£7,025,086	£6,992,003	887	£7,883	(£33,084)	(0.47%)	£296	3.91%
<b>River Academy</b>	£2,122,568	289	£7,345	£51,786	£2,174,354	£3,746,523	479	£7,822	£1,572,170	72.31%	£477	6.50%
<b>Highdown School and Sixth Form Centre</b>	£8,128,670	1,212	£6,707	£180,789	£8,309,459	£8,543,437	1,217	£7,020	£233,979	2.82%	£313	4.67%
<b>Reading School</b>	£4,905,672	753	£6,515	£111,026	£5,016,698	£5,111,106	764	£6,690	£94,408	1.88%	£175	2.69%
<b>King's Academy Prospect</b>	£8,631,168	1,058	£8,158	£193,470	£8,824,638	£8,311,104	966	£8,604	(£513,534)	(5.82%)	£446	5.46%
<b>Kendrick School</b>	£4,177,644	641	£6,517	£95,292	£4,272,936	£4,315,953	641	£6,733	£43,017	1.01%	£216	3.31%
<b>Hartland High School</b>	£5,472,078	651	£8,406	£120,510	£5,592,588	£4,826,427	542	£8,905	(£766,161)	(13.70%)	£499	5.94%
<b>Primary Total</b>	£74,199,420	13,137	£5,648	£2,085,165	£76,284,585	£75,635,999	12,758	£5,929	(£648,587)	(0.85%)	£280	4.96%
<b>Secondary Total</b>	£61,370,240	8,298	£7,396	£1,377,052	£62,747,292	£63,561,899	8,219	£7,734	£814,607	1.30%	£338	4.57%
<b>Total</b>	£135,569,660	21,435	£6,325	£3,462,217	£139,031,877	£139,197,898	20,977	£6,636	£166,021	0.12%	£311	4.92%